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Note : Answer any FOUR questions.

(i) FAF I97 & Gt YT F1 FHGR 0F G §F BT |
Solve all parts of a question consecutively together.

(iii) 5% F¥7 H1 79 78 & IR Hilord |
Start each question on fresh page.

(iv) g yTeT3i 4 31 g1 1 [Rfa 7 s srae @ ar=r 2 1

Only English version is valid in case of difference in both the languages.

1. (i) ST TUEY SIaHSe WR VAT i fhE TR wwTiaa ST @ ?
How does heat storage affects the air-conditioning load calculation ?
(i) <1 TE | 1T AT § ? TAHI ITAN Hal (a1 JA1 8 ?
What do you understand by daily range ? Where it is used ?
(iii) AR ! GTEHT § T 9159 & TaTE 1 T o forw 7 U fpu e € 2

What are the measures to be used to prevent flow of water vapour through
building structure ?

(iv) a1 o3 # Ho1 Ty J 9 RN IWIHA 3 ?
What do you understand by total resistance in a duct system ?

(v) asafaes siideH o | U % 99 6 a9FEe |

Explain selection of pump in evaporative cooling system. (374%5)

(1 of4) , P.T.O.
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T 10 . x 20 Ht. x 3 W, I waq F foru amafves sfiaem &g dow s R i 7o
yishan i fosarydes awss |

Describe the process of calculating sensible heat load for evaporative cooling of a
10 m x 20 m x 3 m high building. (17%%)

T 20 . x 40 . x 3.5 Hi. St UG, YR B F WY FAR b A9GH (T 30° N
gy fa } | it & diam, 21 5@ W ImaiE, Sa15¢ A 91 B § & @ @1 rfufa=me
AFR @ |

A 20 m x 40 m x 3.5 m high building having a flat roof is located near Jaipur (about.

30° N latitude). For summer, based on 21 June, show which of the orientation A or B
is better.

20m
t
40m 4‘;’“
T 20 m
() (b) 17%)

(i) &Em % g Hier TS AT ST It 9T THhE I9E X i T 6t fafy
%! forargdes a9esy |

Explain in detail the procedure for calculating solar and transmission heat gam
through walls and equivalent temperature differential.

(i) o ST WIfCd & 319 91 THEA & 7 9! TOMT fhE WHR i et 7 7

What do you understand from system heat gain ? How it is calculated ? (9+8%)

T g waq (10 . x 15 4. x 3 . Sarf) % arsafies sfiaem & o aum a0

faftr gro afeet @3 1 Afreea HIRT qon AifessT @ H S5 | 91 A 6 &
25 91 aitEd Sfd w9 2 |

Design a duct system with equal friction method for evaporative cooling of a library

building (10 m x 15 m x 3 m high) and also draw duct layout. Rate of air supply is 25
air change per hour. (17%%)
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6. T qu wftgea o feogfor fafm -
Write short notes on following :
() afeent rfreya &1 fa § i 1 alie
Velocity reduction method of duct design.
(i) STARE R TUET &g Yo @
Building survey for air-conditioning load calculation.
(iii) T YT ATATHEA I U] H $HH] THE
Stratification and its effect in air-conditioning load calculation. (6+6+5%%)
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